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QUESTION 1

Big and Medium-sized general hospital is suitable to build E_Hospital.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 2

For industrial automation companies, which of the following deployment model is based on cloud? (Multiple Choice)
A. on-premises

B. Infrastructure as a Service (laaS)

C. Platform as a Service (PaaS)

D. Software as a Service (SaaS)

Correct Answer: BCD

QUESTION 3

The scale of a traditional IT system is determined by the requirements of average traffic.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 4

Which of the fallowings are BIOS function? (Multiple Choice)
A. System setting information

B. Basic input/output programs

C. Power-on self test (POST) programs

D. Bootstraps

E. manage computer hardware resources

Correct Answer: ABCD
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QUESTION 5

Which of the following descriptions of Oracle instance is incorrect?

A. Oracle instance is a combination of background processes and memory structures
B. Oracle instance is start at last

C. Each instance\\'s startup will allocates the system global area (SGA)

Correct Answer: B
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